Bt 77 o7—N

PLUNGE ARBOR WITH CARBIDE BAR

MMHNAL
5 Features o T—
+ EEV ICEROERIET—/N,
High rigidity arbor for less vibration.
2 I:I_:z I\o
Low cost.

8 » QTR (B T X8I1C & EMAE),
EE Two face contact shank(Can be used for BT spindle also).
58 B B— AN —F A AR,
'ﬂ$ Coolant through body.
Z
I
4
:/“ 17 H
— %
[ L
A — T
— | =L B
_U Q
: —
q
g st
m
>
% CODE D L1 L2 H D1 K W G
TBT50-FMP16CB -150 - 40 150 112 HCB-
S 200 - 40 | '® [200 | 162 | '® 38| 5 | 8 | ygx 35
= TBT50-FMP22CB -250 - 50 250 212 HCB
I -300 - 50 22 300 262 18 | 48 5 10 M10->< 35
I -350 - 50 350 312
@) TBT50-FMP22CB -250 - 63 250 212 HCB
:5 -300 - 63 22 300 262 18 60 5 10 M1 O->< 35
w -350 - 63 350 312
O TBT50-FMP31.75CB -250 - 80 250 212 HCB
m -300 - 80 31.75 | 300 262 30 76 7 12.7 M16->< 40
g -350 - 80 350 | 312
) BE 2—AN—ICTZERDBERERHE T Z TRV NDREVLETY,
Special clamping bolt with coolant hole is required for coolant through type.
EREO T 77—\ (&=
FMLW shZE@B =07 7—/\ EiEVR)
LIGHT WEIGHT HOLLOLW TYPE ARBOR (HIGH FEED CUTTING) .
— [
CODE D L1 L2 | H |D1| K W Kg G
BT50-FMLW22 -250 - 63 250 | 212 6.8 HCB
-300 - 63 22 300|262 |18 | 60| 5 10 7.4 B
M10 x 35
-350 - 63 350|312 8.0
BT50-FMLW22.225 -250 - 63 250 | 212 6.8 HCB
-:B00 - 63 |22225|300|262 |18 |60 | 4 8 7.4 B
M10 x 35
-350 - 63 350 | 312 8.0
BT50-FMLW31.75 -250 - 80 250 | 212 8.7
-300 - 80 300 | 262 76| 7 9.7
-350 - 80 350 | 312 10.7 HCB-
BT50-FMLW31.75 -250 -100 31.75 250 | 212 30 127 11.4 | M16 X 40
-300 -100 300 | 262 96 | 7 12.9
-350 -100 350 | 312 14.4
BT50-FMLW38.1 -250 -125 250 | 212 12.0
-300 -125 38.1 300 (262|134 |98 | 9 (159 13.6 MBA-M20
-350 -125 350|312 15.1

WEHTY 1 ZEIUCKWEIENZLET. Special size is available upon request.
T E—AN—F A IEHE—IDOZHmIEEERIC (-OH) & ZHEREVET,
When ordering coolant through type, add “-OH" to the end of model number.



(V)] MBA 957Kk

CLAMP BOLT FOR FACE MILL ARBOR
G G

HCB F+v7RILb

CAP BOLT FOR FACE MILL ARBOR .

o | =
L3 L3

r 1w r |12 %
L L >
7
CODE D d L L1 2 [ 13 G H S
MBA-M 8 20 | 156 | 25 | 16 9 7 [ M 8xP=125 | 6 >
M10 28 | 18 | 31 20 | 11 9 | M1OxP=15 8 A
M12 383 | 5,5 |85 [ 23 | 12 | ,, [ MI2xP=1.75 [ 10 K
M16 40 38 | 22 | 16 M16xP=2.0 14 L
M20 50 | 27 [ 50 [ 30 [ 20 [ ,, | M20xP=25 17 K

M24 65 | 37 | 58 | 34 | 24 M24xP=3.0
—_ oL o
MBA-OH &/ &2—AWV—RI77FIVb -
CODE D d di L L1 L2 [ 13 G H S
MBA-M16-OH | 40 | 23 38 | 22 | 16 | 10 [ M16xP=20 14 E
M20-OH | 50 | 27 4 50 [ 30 [ 20 | ,, [M20xP=25 17 3
M24-OH | 65 | 37 58 | 34 | 24 M24xP=3.0 &
-
o
By
r
(@}
m
2
(.
-
>
X
W
o
By

‘ L |1 H L1
HCB HCB-OH

CODE D L L1 G H

HCB-M 8x35 13 8 M 8xP=1.25 6
M10x35 16 35 10 | M10xP=15 8
M12x35 18 12| M12xP=1.75 10
M16x40 24 40 16| M16xP=2.0 14

HCB-OH 2 4—AI—A*+ Yy 7HRIV b

CODE D di L L1 G H

HCB-M 8x35-OH 13 8 M 8xP=1.25 6
M10x35-0OH 16 3 35 10 | M10xP=1.5 8
M12x35-OH 18 12 | M12xP=1.75 10
M16x40-OH | 24 4 40 16| M16xP=2.0 14




